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Linear Equations

E Use Gaussian elimination to find the solution of the following system of

equations.
x+y+z =4 x+y+z =10
(a) 3x+y—2z=4 (b) 2x+y+z =9
y+z =0 3x+y+2z=0
55
+0.99y =2.99
2. Solve the system of equations * %

0.99x+0.98y =2.97

x+0.99y=3

and show that this system is ill-conditioned by solving
0.99x+0.98y =2.97

stating a reason for your answer.

2241

3. A parabola passes through the points (1,-1), (2,0) and (3,1).

The equation of the parabola is

y=ax’ +bx+c

() Write down a 3x3 system of equations in a,b and c.

(b) Solve this system using Gaussian elimination.

Hence write down the equation of the parabola. 15

4. Use Gaussian elimination to find the value of A for which the following

system of equations has no solution.

2x+y+z =0

x+2y-z =-1 4

x -Az=1

Total =25
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